
Id 1

Question 1 + 0.1 + 0.01 + 0.001 = ?  

A 1.001

B 1.011

C 1.003

D 1.111 

Answer D



Id 2

Question In a race Ravi covers 5 km. in 20 minutes, how much distance will he cover in 50 minutes
? 

एक ददौड़ प्रततिययोगगितिता मम रववि 20 ममनट मम 5 ककममी ददौड़तिता हहै | तियो विह 50 ममनट मम ककतिनमी
ददररी तिय कररेगिता ?

A 10.5  km

10.5  ककममी 
B 12 km

12 ककममी 
C 12.5 km

12.5  ककममी 
D 13.5 km

13.5  ककममी 
Answer C



Id 3

Question
The L.C.M. of  

3
4
,
6
7
,
9
8

   is 

    
3
4
,
6
7
,
9
8

       कता  लघघत्तम समतापविरयर्त्य हहै 

A 18

B 3

C 3
56

D 9
28

Answer A



Id 4

Question The average of 6 observations is 45.5. If one new observation is added to the previous 
observations, then the new average becomes 47. The new observation is 

6 अविलयोकननों कता औसति  45.5  हहै | यदद पहलरे अविलयोकननों मम एक नयता अविलयोकन जयोड़ता 
जतातिता हहै, तियो नयता औसति  47 हयो जतातिता हहै | तियो नयता अविलयोकन हयोगिता

A 58 

B 56

C 50

D 46

Answer B



Id 5

Question 5
5
6
×6

3
7
+5

1
2
=?

A 40

B 40.5

C 42.5

D 43

Answer D



Id 6

Question If 21 cows eat as much as 15 buffaloes, how many cows will eat as much as 35 buffaloes?

यदद 21 गितायम 15 भहैसनों करे जजतिनता खतातिमी हह, तियो ककतिनमी गितायम 35 भहैसनों करे जजतिनता खताएएंगिमी ?

A 49

B 56

C 45

D None of these

इनमम सरे कयोई नहरीएं 
Answer A



Id 7

Question 30% of what number is 18? 

ककस सएंखयता कता 30 %, 18  हहै ?

A 54 

B 60 

C 24

D None of these 

इनमम सरे कयोई नहरीएं 
Answer B



Id 8

Question How many meters of carpet 63 m wide will be required to cover the floor of a room 
14 m × 9 m? 

14 ममी x 9 ममी करे एक कमररे मम 63 ममी चदौड़रे एक कतालरीन कयो बबिछतानरे करे मलए ककतिनरे ममीटर 
ककी आविशयकतिता हयोगिमी ?

A 200 m 

200 ममी 
B 210 m

 210  ममी 
C 220 m   

220 ममी 
D 185 m

185 ममी 
Answer A

Id 9-13

Main Text In each of the following questions a number series is given with one term 
missing. Choose the correct alternative that will continue the same pattern and
fill in the blank spaces. 

तनमनमलखखति प्ररयरेक प्रशन मम एक सएंखयता शशएंखलता दरी गियमी हहै जजसमरे एक 



सएंखयता लघपति हहै | सहरी वविकलप कयो चघनरे जयो कक एक हरी तनयम मम हहै और ररकति
ससताननों कयो भरम |

Question 3, 9, 27, 81, (__) 

A 324 

B 243 

C 210 

D 162 

Answer B

Question 1, 4, 9, 16, 25, (__) 

A 35

B 36 

C 48 

D 49

Answer B

Question 20, 19, 17, (__), 10, 5  

A 12

B 13

C 14

D 15

Answer C

Question 2, 3, 5, 7, 11, (__), 17 

A 12

B 13

C 14

D 15

Answer B

Question 6, 11, 21, 36, 56, (__) 

A 42

B 51

C 81

D 91

Answer C



Id 14

Question Which of the following numbers is NOT a square of any natural number? 

तनमनमलखखति मम सरे कदौन समी सएंखयता ककसमी भमी प्रताकश ति सएंखयता कता विगिर्त्य नहरीएं हहै ?

A 34692

B 4096 

C 15309

D None of these 

इनमम सरे कयोई नहरीएं 
Answer A



Id 15

Question The product of Ravi’s age 5 years ago with his age 7 years later is 28. Ravi’s present 
age is 

5 विरर्त्य पहलरे रववि ककी उम्र और 7 विरर्त्य बिताद उसककी उम्र कता गिघणनफल 28 हहै | रववि ककी 
वितिर्त्यमतान उम्र हहै  

A 4 years

4  विरर्त्य 
B 6 years

6  विरर्त्य 
C 7 years

7 विरर्त्य 
D 8 years 

8 विरर्त्य 
Answer C



Id 16

Question If A : B = 5 : 7 and B : C = 6 : 11, then A : B : C = ? 

यदद  A : B = 5 : 7 और B : C = 6 : 11, तियो  A : B : C = ?

A 55 : 77 : 66

B 30 : 42 : 77

C 35 : 49 : 42

D None of these 

इनमम सरे कयोई नहरीएं 
Answer B



Id 17

Question A rectangle measures 8 cm on length and its diagonal measures 10 cm. What is the 
perimeter of the rectangle? 

एक आयति ककी लमबिताई ८ सरेममी और इसकता वविकणर्त्य 10  सरेममी हहै | आयति ककी पररगधि 
ककतिनमी हहै ?

A 36 cm

36 सरेममी 
B 38 cm

38 सरेममी
C 28 cm

28 सरेममी
D 18 cm 

18 सरेममी
Answer C



Id 18

Question The difference of two numbers is 5 and the difference of their squares is 135. The 
sum of the numbers is 

दयो सएंखयताओएं कता अनतिर 5 हहै और उनकरे विगिर्गों कता अनतिर 135 हहै | तियो सएंखयताओएं कता ययोगि
हहै 

A 27

B 25

C 30

D 32 

Answer A



Id 19

Question A train covers a distance in 50 minutes, if it runs at a speed of 48 km/hr on an average. 
The speed at which the train must run to reduce the time of journey to 40 minutes, will be 

एक टरेन 50 ममनट मम एक ददररी तिय करतिमी हहै, अगिर यह औसतिन 48 ककममी/घएंटरे ककी गितति सरे
चलतिमी हहै | तियो यतातता करे समय कयो 40 ममनट तिक कम करनरे करे मलए टरेन कयो जजस गितति सरे
चलनता चतादहए, विह हयोगिमी 

A 50 km/hr.

50 ककममी/घएंटरे 
B 55 km/hr.

55 ककममी/घएंटरे
C 60 km/hr.

60 ककममी/घएंटरे
D 70 km/hr. 

70 ककममी/घएंटरे
Answer C



Id 20

Question √176+√2401=?

A 14

B 15

C 18

D 24

Answer B

Id 21-28

Main Text In each of the following questions, select the related letter/word/number from 
the given alternatives. 



तनमन प्रशननों मम सरे प्ररयरेक प्रशन मम ददए वविकलपनों मम सरे सएंबिएंगधिति 
शबद/अक्षरनों/सएंखयता कयो चघतनए |

Question Car : Garrage : : ? : Hangar 

कतार : गिहैरताज :: ? : वविमतानशतालता 
A Bus

बिस 
B Aeroplane 

वविमतान 
C Truck

टक 
D Train 

ररेलगिताड़मी 
Answer B

Question Heat : Calorie : : Sound : ? 

उषमता : कहैलदौररी :: धवितन : ?

A Joule

जदल 
B Richter

ररकटर 
C Decibel 

डरेसमीबिल 
D Knot 

ननॉट 
Answer C

Question Carpentry : Skill : : ? : Talent 

बिढ़ईगिमीररी : कदौशल : : ? : प्रततिभता 
A Masonry 

रताजगिमीररी 
B Singing

गितायन 
C Plumbing

नलसताजमी 
D Driving 

कतार चतालन 



Answer B

Question MAD : JXA : : RUN : ? 

A ORK  

B OSQ

C PRJ

D UXQ 

Answer A

Question Botany : Plants : : Entomology : ? 

विनसपतति वविजतान : पदौधिनों : : ककीट वविजतान : ?

A Snakers 

सतासाँप 
B Insects

ककीड़रे 
C Birds

पक्षमी 
D Germs

ककीटताणघ 
Answer B

Question CLOSE : DNRWJ : : OPEN : ? 

A PRHR

B PRJQ

C RPJB

D RZWR 

Answer A

Question Pesticide : Crop :: Antiseptic : ? 

ककीटनताशक : फसल ::एएंटरीसरेजपटक : ?

A Wound

घतावि 
B Clothing

विसत 
C Bandage

बिहडरेज 
D Bleeding 

रकतिसततावि 



Answer A

Question Brain : Natural : : ? : Artificial 

मजसतिषक : प्रताकश ततिक : : ? :  कश बतम 
A Desert

ररेगगिसतितान 
B Forest

विन 
C Mineral

खतनज 
D Computer 

कमपयदटर 
Answer D



Id 29

Question Find the odd word/letter/ number from the given alternatives 

ददयरे गिए वविकलपनों मम सरे वविरम शबद/ अक्षर/ सएंखयता कयो चघतनए |

A Wing

पएंख 
B Fin

कफन 
C Beak

चनोंच 
D Rudder 

रडर 
Answer B



Id 30

Question Find the odd word/letter/ number from the given alternatives 

ददयरे गिए वविकलपनों मम सरे वविरम शबद/ अक्षर/ सएंखयता कयो चघतनए |

A Kingfisher 

कदौड़ड़ललता 
B Crane

सतारस 
C Sparrow

गिदौररेयता 
D Humming Bird 

ममर्त्यर पक्षमी 
Answer B



Id 31

Question Find the odd word/letter/ number from the given alternatives 

ददयरे गिए वविकलपनों मम सरे वविरम शबद/ अक्षर/ सएंखयता कयो चघतनए |

A River 

नदरी 
B Mountain

पविर्त्यति 
C Dam

बितासाँधि 
D Forest 

जएंगिल 
Answer C



Id 32

Question Find the odd word/letter/ number from the given alternatives 

ददयरे गिए वविकलपनों मम सरे वविरम शबद/ अक्षर/ सएंखयता कयो चघतनए |

A Mouse 

मताउस  
B Printer

वप्रएंटर 
C Keyboard

ककीबियोडर्त्य 
D Joystick 

जनॉयजसटक 
Answer B



Id 33

Question Find the odd word/letter/ number from the given alternatives 

ददयरे गिए वविकलपनों मम सरे वविरम शबद/ अक्षर/ सएंखयता कयो चघतनए |

A 18 

B 15 

C 21

D 25

Answer D



Id 34

Question Find the odd word/letter/ number from the given alternatives 

ददयरे गिए वविकलपनों मम सरे वविरम शबद/ अक्षर/ सएंखयता कयो चघतनए |

A Pencil – Lead 

पममसल लरेड 
B Crayon – Chart

गचतताकनमी - चताटर्त्य 
C Pen – Ink

परेन-सयताहरी 
D Brush – Bristle 

ब्रश - कड़ता बिताल 
Answer B



Id 35

Question If   RAMAYANA is written as BOBZBNBS, then GRANTH is written as:  

यदद  RAMAYANA कयो  BOBZBNBS मलखता जतातिता हहै, तियो  GRANTH कयो कहैसरे मलखता
जताएगिता ?

A IVPBTH

B HSBOUI 

C IUOBSH

D IUOCSI

Answer C



Id 36

Question If 678 = 83, 476 = 75 and 567 = 80, what is 369 = ?    

यदद  678 = 83, 476 = 75 और  567 = 80, तियो  369 = ? 

A 18

B 99

C 72

D 40

Answer D



Id 37

Question Arrange the following words as per order in the dictionary.
 1. Plate               2. Plane 
 3. Plaster            4. Plasma 
5. Plastic  

तनमनमलखखति शबदनों कयो शबदकयोश करे अनघसतार वयविजससति करम |
 1. Plate               2. Plane 
 3. Plaster            4. Plasma 
5. Plastic  

A 2, 1, 5, 3, 4

B 2, 5, 3, 4, 1

C 2, 4, 3, 5, 1

D 1, 2, 3, 4, 5 

Answer C



Id 38

Question From the given alternatives, select the word which can’t be formed using the letters of
the given word. ORGANISATION 

तनमन वविकलपनों मम सरे उस शबद कता चयन कररे जयो ददए गिए शबद मम शताममल अक्षरनों सरे
नहरीएं बिनतायता जता सकतिता हयो | ORGANISATION 

A ORATION

B ORGANISE

C NATION 

D ORGAN 

Answer B



Id 39

Question If in a certain code ONE is coded as 231, FIVE is coded as 9641, then how will be 
NINE coded? 

यदद ककसमी कयोड मम ONE कयो 231 मलखता जतातिता हहै,  FIVE कयो 9641 मलखता जतातिता हहै, तियो  
NINE कयो कहैसरे मलखता जताएगिता ?

A 3613

B 3361

C 3631 

D 3316 

Answer C



Id 40

Question Count the number of triangles in the given figure. 

ददए गिए आकश तति मम बतभघजनों ककी सएंखयता जताति करम |

A 9

B 8

C 12

D 16

Answer D



Id 41

Question From the given alternative words, select the word which can be formed by using the 
letters of the given word. 
MEASUREMENT

तनमनमलखखति वविकलपनों मम सरे विह शबद चघतनए जयो ददए गिए शबद करे अक्षरनों कता प्रययोगि 
करकरे बिनतायता जता सकतिता हहै |
MEASUREMENT

A MASTER

B MANTLE

C SUMMIT

D ASSURE 

Answer A



Id 42

Question Arrange the following words as per the order in the dictionary: 
1. Smoulder            2. Smother 
3. Smuggle             4. Smudge 

तनमनमलखखति शबदनों कयो शबदकयोश मम ददयरे गियरे क्रम करे अनघसतार मलखरे:
1. Smoulder             2. Smother 
3. Smuggle              4. Smudge 

A 1, 2, 3, 4 

B 2, 1, 4, 3 

C 4, 3, 2, 1 

D 1, 4, 3, 2 

Answer B



Id 43

Question From the given alternative words, select the word which can not be formed using the 
letters of the given word. 
GEOSTATIONARY 

तनमनमलखखति वविकलपनों मम सरे विह शबद चघतनए, जयो ददए गिए शबद करे अक्षरनों कता प्रययोगि 
करकरे नहरीएं बिनतायता जता सकतिता |
GEOSTATIONARY 

A STAR 

B GATE

C STATE

D DISTART

Answer D



Id 44

Question If  B + A + T = 23, then D + O + L + L = ? 

यदद  B + A + T = 23, तियो D + O + L + L = ? 

A 33  

B 70

C 43 

D 53 

Answer C



Id 45

Question Pointing to a girl Rahul said, “She is the daughter of the only sister of my father”. How is 
Rahul related to the girl? 

एक लड़ककी ककी ओर इशतारता करतिरे हघए रताहघल नरे कहता, “ विह मरेररे वपतिता ककी इकलदौतिमी बिहन ककी
बिरेटरी हहै|” रताहघल उस लड़ककी सरे ककस प्रकतार सएंबिएंगधिति हहै ? 

A Uncle

चताचता 
B Cousin 

चचरेरता भताई 
C Father 

वपतिता 
D Grandfather 

दतादता 
Answer B



Id 46

Question Which of the following word will come in the middle if they are arranged 
alphabetically as per in a dictionary?
 1. Cruise           2. Crupper 
 3. Crusade        4. Crude 
 5. Crumb 

अएंग्रजमी शबदकयोश करे अनघसतार क्रम सरे रखनरे पर तनमन शबदनों मम मधय मम कदौन आएगिता?
1. Cruise           2. Crupper 
 3. Crusade        4. Crude 
 5. Crumb 

A Crusade 

B Crude 

C Cruise 

D Crumb 

Answer D



Id 47

Question The priest told the devotee, “The temple bell is rung at regular intervals of 45 minute. The
last bell was rung five minutes ago. The next bell is due to be rung at 7:45 am.” At what 
time did the priest give this information to the devotee? 

पघजताररी नरे भकति कयो बितितायता, 'मएंददर ककी घएंटरी 45 ममनट करे तनयममति अएंतिरताल पर बिजतिमी हहै | 

वपछलरी घएंटरी 5 ममनट पहलरे बिजमी समी | अगिलरी घएंटरी 7 : 45 पर बिजनमी हहै | पघजताररी नरे भकति 
कयो ककस समय जतानकताररी दरी समी' ?

A 7 : 40 am 

7 बिजकर 40 ममनट 
B 7 : 05 am

7  बिजकर 05 ममनट 
C 7 : 00 am

7 बिजरे 
D 6 : 55 am

6 बिजकर 55 ममनट 
Answer B



Id 48

Question Pointing towards a person, a man said to a woman, “His mother is the only daughter of 
his father.” How is the woman related to that person? 

एक वयजकति ककी ओर इशतारता करतिरे हघए एक आदममी नरे एक मदहलता सरे कहता " उसककी मतासाँ 
अपनरे वपतिता ककी इकलदौतिमी पघतमी हहै |” मदहलता उस वयजकति सरे ककस प्रकतार सएंबिएंगधिति हहै ?

A Daughter

पघतमी 
B Sister

बिहन 
C Mother

मतासाँ 
D Wife 

परनमी 
Answer B



Id 49

Question If the following words are arranged in a dictionary, which will be 3rd word ?
 Amphibian,             Amorphous,           Ambiguous, 
Ambidextrous,         Ambivalent 

तनमनमलखखति शबदनों कयो शबदकयोश मम वयविजससति करनरे पर तिमीसररे ससतान पर कदौन सता शबद
आयरेगिता ?
Amphibian,             Amorphous,           Ambiguous, 
Ambidextrous,         Ambivalent 

A Amphibian

B Amorphous

C Ambiguous

D Ambivalent 

Answer D



Id 50

Question From the given alternatives, select the word which can’t be formed using the letters of the 
given word. 
PERAMBULATOR 

तनमन वविकलपनों मम सरे उस शबद कता चयन कररे जयो ददए गिए शबद मम शताममल अक्षरनों सरे 
नहरीएं बिनतायता जता सकतिता हयो |
PERAMBULATOR 

A MARBLE

B RAMBLE

C RAMPANT

D LABOUR 

Answer C



Id 51-53

Main Text Each of the five items in this section consists of word or group of words 
followed by four words as (a), (b), (c), and (d), Select the word which is 
nearly opposite to the meaning of the original word or group of words and 
mark your response as (a), (b), (c), or (d), as the case may be, in your Answer 
Sheet. 

Question Assets 

A liabilities

B responsibilities

C estates

D profits 

Answer A

Question Convict 

A charge

B defence

C acquit

D punish 

Answer C

Marks 1

Question Pride 

A esteem

B submission

C humility

D courtesy 

Answer C

Marks 1

Id 54-57

Main Text In the following five items, select the most appropriate word to complete the 
given sentences and mark your response as (a), (b), (c), or (d), as the case may
be, in your Answer Sheet. 

Question At last the Principal had to _________ to the genuine demands of the 
students. 

A accede

B exceed 

C except

D accept 



Answer A

Question ______ measures have been taken by the police to control the situation. 

A Efficient

B Virtual 

C Popular 

D Effective

Answer D

Question Shall we dispense _______ the formalities?     

A  in

B off

C with

D on 

Answer C

Question You can’t buy that drug; you can only get it on _____. 

A order

B demand

C requisition

D prescription 

Answer D



Id 58-60

Main Text Each item in this section consists of a word, underlined word/words in a 
statement or a phrase followed by four words or phrases as (a), (b), (c), and 
(d). Select the word/words or phrase which is/ are most nearly the same in 
meaning as the original one and mark your response as (a), (b), (c), or (d) as 
the case may be, in your Answer Sheet. 

Question Status  

A composition

B regulation

C position

D situation

Answer C

Question Attain    

A attend

B achieve

C maintain

D obtain 

Answer B

Question Transform  

A change

B transfer

C continue

D transact 

Answer A



Id 61

Question Which one of the following Indian rulers was a contemporary of Akbar?

इन मम सरे कदौनसमी भतारतिमीय शतामसकता अकबिर ककी समकतालरीन समी?
A Rani Durgavati

रतानमी दघगितार्त्यवितिमी
B Rani Laxmibai

रतानमी लकममीबिताई
C Rani Padmavati

रतानमी पदमतावितिमी
D Rani Chennamma

रतानमी चरेननममता
Answer A



Id 62

Question What are Oxygen and Ozone?

ऑकसमीजन और ओजयोन कयता हह?
A Allotropes

एलयोटयोप
B Isotopes

आइसयोटयोप
C Monotopes

मयोनयोटयोप
D Stereotopes

सटरीररययोटयोप
Answer A



Id 63

Question From where did India introduce cultivation of tobacco/tapioca/ pineapple?

भतारति मम तिएंबिताकद /टहैवपओकता/अनतानतास ककी खरेतिमी दघतनयता करे ककस प्रदरेश सरे आयमी?
A China

चमीन
B Africa

अफकीकता
C South America

दकक्षण अमरेररकता
D Australia

ऑसटरेमलयता
Answer C



Id 64

Question When was the Reserve Bank of India taken over by the Government?

भतारति सरकतार नरे ककस विरर्त्य मम भतारतिमीय ररजविर्त्य बिहक कता सविताममरवि अगधिकतार पदररी तिरह अपनरे
पतास लरे मलयता?

A 1976

B 1961

C 1983

D 1948

Answer D



Id 65

Question Which of the following is found on the western coast of continents between 30° and 
40° latitudes?

महतादविमीपनों करे पजशचममी तिट पर 30 ड़डग्रमी और 40 ड़डग्रमी अक्षताएंशनों करे बिमीच तनमनमलखखति मम सरे
कयता पतायता जतातिता हहै?

A Equatorial Region

भदमधयवितिर क्षरेत
B The Western Ghat

पजशचममी घताट
C The Mediterranean Climate Region

भदमधय जलवितायघ क्षरेत 
D Amazon Forest

अमरेज़नॉन करे जएंगिल
Answer C



Id 66

Question Which school of painting developed independently during the Mughal Period?

मघगिल कताल मम ककस प्रकतार ककी गचतकलता सवियएं हरी वविकमसति हघई?

A The Madhubani School

मधिघबिनमी सकद ल
B The Pata-Chitra School

पटट-गचत सकद ल
C The Persian School

फतारसमी सकद ल
D The Bijapur School

बिमीजतापघर सकद ल
Answer D



Id 67

Question Who contracts ‘Foot and Mouth Disease’?

'पहैर और मघएंह’ रयोगि ककसरे हयोतिता हहै?
A Cattle

मविरेशमी
B Human Beings

मनघषय
C Dogs

कघ त्तरे
D Cats

बबिजललयताएं
Answer A



Id 68

Question Who decides the number of Judges in a High Court?

उचच नयतायतालयनों मम नयतायताधिमीशनों ककी सएंखयता कदौन तिय करतिता हहै?
A The Prime Minister

प्रधितानमएंतमी
B The Governor of Delhi

ददललरी करे रताजयपताल
C The Chief Justice of Supreme Court

सघप्रमीम कयोटर्त्य करे मघखय नयतायताधिमीश
D The President

रताषटपतति
Answer D



Id 69

Question What denotes the smallest temperature?

इनमरेसरे कयता सबिसरे छयोटरे तितापमतान कयो दशतार्त्यतिता हहै?
A 1 degree of Kelvin Scale

करेजलविन सकरेल ककी 1 ड़डग्रमी
B 1 Degree of Celsius Scale

सरेजलसयस सकरेल ककी 1 ड़डग्रमी
C 1 Degree of Barometer

बिहैरयोममीटर ककी 1 ड़डग्रमी
D 1 Degree of Thermometer

समर्मोममीटर ककी 1 ड़डग्रमी
Answer A



Id 70

Question In which latitudes are the largest quantities of bauxite found?

ककसमरे सबिसरे अगधिक मतातता मम बिनॉकसताइट पतायता जतातिता हहै?
A Equatorial Latitudes

भदमधयवितिर अक्षताएंश क्षरेत
B Polar Latitudes

धघविमीय अक्षताएंश क्षरेत
C Any Latitudes

कयोई भमी अक्षताएंश क्षरेत
D Tropical Latitudes

उषणकदटबिएंधिमीय अक्षताएंश क्षरेत
Answer D



Id 71

Question Which was the first English ship that came to India?

भतारति मम पहलता अएंग्ररेजमी जहताज कदौन सता आयता सता?
A The Cambridge

कहैजमब्रज
B The Red Dragon

ररेड डहैगिन
C The Wellesley

विरेलरेसलरी
D The Ibis

आईबबिस
Answer B



Id 72

Question Which tree, once very popular in social forestry, is now considered to be an 
environmental hazard?

कदौन सता परेड़ जयो पहलरे सतामताजजक विन-तनमतार्त्यण मम बिहघति लयोकवप्रय सता, परनतिघअबि पयतार्त्यविरण 
करे मलए खतिरता मतानता जतातिता हहै?

A Babool

बिबिदल
B Acacia

ककीकर
C Eucalyptus

नमीलगगिररी
D Banyan

बिरगिद
Answer C



Id 73

Question Foot-and-Mouth disease in animals, an epidemic in some parts of the world, is caused by,

जतानविरनों मम 'पहैर और मघएंह' ककी बिमीमताररी, जयो दघतनयता करे कघ छ दहससनों मम एक भमीरण सएंक्रतामक 
रयोगि करे रूप मम मदौजदद हहै, ककस कतारण सरे हयोतिमी हहै?

A Virus

वविरताणघ
B Bacterium

जमीविताणघ
C Mucor

मयदकर
D Fungus

फएंगिस
Answer B



Id 74

Question In which animal is respiration done by skin?

कदौनसता जतानविर रविचता दवितारता शविसन करतिता हहै?
A Elephant

हतासमी
B Rhinoceros

गिहडता
C Frog

ममढक
D Fish 

मछलरी
Answer C



Id 75

Question The Ruhr-Westphalia region is a famous industrial region of which country?

रूह विरेसटफतामलआ क्षरेत ककस दरेश कता एक प्रमसदधि औदययोगगिक क्षरेत हहै?
A Austria

ऑजसटयता
B Switzerland

जसविटजरलहड
C South Africa

दकक्षण अफकीकता
D Germany

जमर्त्यनमी
Answer D



Id 76

Question Which was the first newspaper to be published in India?

भतारति मम प्रकतामशति हयोनरे वितालता सबिसरे पहलता समताचतार पत कदौन सता सता?
A The Kesari

करेसररी
B The Bengal Gazette

बिमगिताल गिहैज़रेट
C The Times of India

टताइमस ऑफ इएंड़डयता
D Indian Express

 इएंड़डयन एकसप्ररेस 
Answer B



Id 77

Question With whom does the power to extend or restrict the jurisdiction of the High Court rest?

उचच नयतायतालय करे अगधिकतार क्षरेत कयो वविसतिताररति यता प्रततिबिएंगधिति करनरे कता अगधिकतार ककसकरे 
पतास हहै?

A With the President

रताषटपतति
B With the Parliament

सएंसद
C With the Prime Minister

प्रधितानमएंतमी
D With the Chief Justice of Supreme Court

सघप्रमीम कयोटर्त्य करे मघखय नयतायताधिमीश
Answer B



Id 78

Question ‘Gobar gas’ contains mainly which gas?

'गियोबिर गिहैस' मम मघखय रूप सरे कदौन समी गिहैस हयोतिमी हहै?
A Ethane

ईसरेन 
B Propane

प्रयोपरेन
C Butane

बयदटरेन 
D Methane

ममीसरेन
Answer D



Id 79

Question Which is the biggest Public Sector undertaking in the country?

दरेश मम सताविर्त्यजतनक क्षरेत कता सबिसरे बिड़ता उपक्रम कदौन सता हहै?
A Indian Railways

भतारतिमीय ररेलविरे
B Air India

एयर इएंड़डयता
C ONGC

ओएनजमीसमी
D Food Corporation of India

भतारतिमीय खतादय तनगिम
Answer A



Id 80

Question Which rock is transformed into marble?

कदौन समी चटटतानम सएंगिमरमर मम पररविततिर्त्यति हयो जतातिमी हह?
A Limestone

चदनता परसर
B Basalt

बिरेसतालट
C Sedimentary Rock

तिलछटरी परसर
D Bauxite

बिनॉकसताइट
Answer A



Id 81

Question Which Englishman was a follower of Gandhiji in South Africa?

दकक्षण अफकीकता मम गिताएंधिमीजमी कता अएंग्ररेज अनघयतायमी कदौन सता?
A Johnson

जनॉनसन
B Andrews

एएंडयदज
C Polak

पयोलताक
D Smith

जसमस
Answer C



Id 82

Question By which number is the quality of gasoline sample determined?

ककस नताप सरे गिहैसयोलरीन करे नमदनरे ककी गिघणवित्तता तनधितार्त्यररति ककी जतातिमी हहै?
A By its atomic number

परमताणघ नएंबिर
B By its octane number

ऑकटरेन नएंबिर
C By its molecular affinity

आणवविक सतादृशय 
D By its valency

परमताणघओएं ककी सएंययोजकतिता
Answer B



Id 83

Question The disease ‘hydrophobia’, caused by the bite of a mad dog, is due to which virus?

पतागिल कघ त्तरे करे कताटनरे करे कतारण हताईडयोफयोबबिआ रयोगि ककस वितायरस करे कतारण हयोतिता हहै?
A Ebola Virus

इबियोलता वितायरस
B Swine Flu Virus

सविताइन फलद वितायरस
C Rabies Virus

ररेबिमीज वितायरस
D Vasculum virus

वितासकयघलम वितायरस
Answer C



Id 84

Question Who appoints the Chief Election Commissioner of India?

भतारति करे मघखय चघनतावि आयघकति ककी तनयघजकति कदौन करतिता हहै?
A Commissioner of ED

ईडमी करे आयघकति
B President

रताषटपतति 
C Prime Minister

प्रधितानमएंतमी
D Governor of RBI

आरबिमीआई करे गिविनर्त्यर
Answer B



Id 85

Question What is the principal reason for the formation of metamorphic rocks?

कतायतापलट चटटताननों ककी तनममर्त्यतति हयोनरे कता प्रमघख कतारण कयता हहै?
A Volcanic Eruption

जवितालतामघखमी वविसफयोट
B Continental Drift

महतादविमीपमीय बिहतावि
C Silt Deposition

तिलछट कता जम जतानता
D Extreme Heat and Pressure

अरयगधिक गिमर और दबितावि
Answer D



Id 86

Question Who said ‘I therefore want freedom immediately, this very night, before dawn, if it can be
had’?

ककसनरे कहता सता ककी 'मह इसमलए तिघरएंति सवितिएंततिता चताहतिता हदसाँ, बिजलक आज हरी ककी रताति, कल 
सघबिह हयोनरे सरे पहलरे, अगिर यह सएंभवि हहै'?

A Sardar Vallabhbhai Patel

सरदतार विललभ भताई पटरेल
B Pandit Nehru

पएंड़डति नरेहरू
C Mahatma Gandhi

महतारमता गिताएंधिमी
D Netaji Subhashchandra Bose

नरेतिताजमी सघभतारचएंद बियोस
Answer C



Id 87

Question Temperature at which both the Fahrenheit and the centigrade scales have the same value?

कदौन सरे तितापमतान कता मदलय फताररेनहताइट और समटरीग्ररेड दयोननों तितापक्रमनों मम एक हरी हयोतिता हहै?
A -20 degrees

-20 ड़डग्रमी
B  -40 degrees

-40 ड़डग्रमी
C -60 degrees

-60 ड़डग्रमी
D  -100 degrees

-100 ड़डग्रमी
Answer B



Id 88

Question With what is the ‘Tennis Court Oath’ associated?

इन मम सरे ककसकरे सतास 'टरेतनस कयोटर्त्य शपस' कता समबिनधि हहै?
A The 1857 uprising in India

भतारति मम 1857 ककी क्रताएंतति 
B Boston Tea Party

बियोसटन टरी पताटर
C The French Revolution

फताएंसमीसमी क्रताएंतति
D The Boer War

बियोअर यघदधि
Answer C



Id 89

Question Saint Tukaram was a contemporary of which Mughal emperor?

सएंति तिघकतारताम ककस मघगिल सम्रताट करे समकतालरीन सरे?
A Akbar

अकबिर
B Jehangir

जहताएंगिमीर
C Aurangzeb

औरएंगिज़रेबि
D Shah Alam

शताह आलम
Answer C



Id 90

Question Who was the first person to cross the Alps with an army?

सरेनता करे सतास आलपस पतार करनरे वितालता पहलता वयजकति कदौन सता?
A Atilla the Hun

अदटलता हघन
B Hannibal

हहैतनबिल 
C Alexander

अलरेकजताएंडर
D Genghis Khan

चएंगिरेज खतान
Answer B



Id 91

Question भतारता करे मलखखति रूप मम बिताति  बितितातिरे हहै|
A बियोलकर 
B मलखकर 
C A  और B  दयोननों 
D इनमम सरे कयोई नहरीएं 
Answer B

Id 92

Question भतारति ककी रताषटभतारता हहै|
A उदघर्त्य 
B दहएंदरी 
C अग्रमजमी 
D इनमरे सरे कयोई नहरीएं 
Answer B

Id 93

Question वयताकरण भतारता करे  बितितातिता हहै 
A तनयम 
B कताम 
C A  और B  दयोननों 
D इनमम सरे कयोई नहरीएं 
Answer A

Marks 1

Unit LDC_Hindi 



Id 94

Question पघषप कदौन - सता शबद हहै?
A तिरसम 
B तिदभवि 
C दरेशज 
D वविदरेशज 
Answer A 

Id 95

Question उ, ऊ करे उचचतारण ससतान हहै|
A दएंति 
B कएंठ 
C ओषठ 
D हयोठनों 
Answer D

Id 96

Question ए, ऐ, ओ, औ  कदौन सता सविर हहै?
A हसवि सविर 
B दरीघर्त्य सविर 
C सएंयघकति सविर 
D इनमम सरे कयोई नहरीएं 
Answer C



Id 97

Question मतातताएसाँ  ककतिनरे प्रकतार करे हयोतिरे हहै? 

A दयो 
B तिमीन 
C पतासाँच 
D सताति 
Answer B

Id 98

Question दहनदरी मम वयएंजनविणर्मो ककी सएंखयता ककतिनमी हहै?
A २२
B १०
C ३३
D ३०
Answer C

Id 99

Question कविगिर्त्य कता उचचतारण-ससतान हहै?
A मदधितार्त्य 
B दएंति  
C ओषठ  
D कएंठ  
Answer D



Id 100

Question पविगिर्त्य कता उचचतारण ससतान हहै?
A दएंति 
B कएंठ 
C ओषठ 
D मदधितार्त्य 
Answer C


